FERMENTATION
Fermentation is the name of the process in which yeast uses glucose to respire and produces carbon dioxide. Below are the results of two different which you are going to ANALYSE.

Experiment 1

How does the temperature affect the rate of fermentation of yeast?

	Temperature  (oC)
	Number of bubbles after 10 minutes

	10
	0

	20
	1

	30
	15

	40
	40

	50
	20

	60
	0

	70
	0

	80
	0


1. Describe what happens to the rate of fermentation as the temperature increases.

2. Why do you think the fermentation is so slow at first?

3. Why do you think that at higher temperatures the yeast stops producing carbon dioxide (remember, yeast is a living organism).

4. At what temperature does the yeast respire at the fastest rate according to these results?

5. THINK.  Is it possible that the maximum (or optimum) rate of fermentation might actually be somewhere else between 20 and 50 degrees?  How could you improve the experiment to find out exactly what this temperature is, and therefore make the results more reliable?
Experiment 2

How does the rate of fermentation change with time?

These are the results from an experiment in which the number of bubbles given off by fermenting yeast were counted every minute.  The yeast was given a fixed amount of sugar, no more was added during the experiment and the temperature was controlled at 40oC
	Time (min)
	Total number of bubbles

	1
	5

	2
	10

	3
	16

	4
	22

	5
	27

	6
	32

	7
	36

	8
	40

	9
	42

	10
	43


1. Plot a graph of these results and draw on the line of best fit.  (Make your graph excellent)

2. Describe the shape of your graph.

3. As time increases, what happens to the total number of bubbles of carbon dioxide produced?

4. As time increases, what happens to the number of bubbles produced each minute? (this is called the rate of the reaction).

5. How does the steepness of the line of the graph change as the time increases

6. What is the connection between the steepness of the line on the graph and the rate of the reaction?

7. Why do you think the rate of the reaction slows down?

